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TENMEI
X0.Y0

GS5140=-6

0S160-7
081402
0S140-38
05140-9
051464010

' 08140-11

0514012
05140-13
051406

1 LOT
TENMET
05140-9
0S140=24

0814045
08140=23

¢ tor

TENMET

08140=-25
0S140-26

. 05140-51

0514050

- 08140-49

0514032

05140353

05140=47

.08140=46

08140«25

L KQeYO -
08140-8

I

L 08160=8 -

* 4k NS

X
150500.000

150524.585

150521.189
150519.041
150516.01%14
150517.864
150569.744
150571.861
150577.20¢4
150575.340
150524 ,385

-
150500.000
150516.014

150517.864

150524.642
150525.512
150516.386

X

150500.000

150526.628
150550,299

150555.,605

150556.686
150558.152
150561.009

C150549.150

150547.490

150556.068

150526.628

Y

w 38700.00Q0
- 38826.113

388235.521
- 38791.619
- 38746.850
w 38744.608
- 38738.158

- 38739.907

- 58820.570
- 38822.700
- 38826.1153

BAL MENSEKI
MENSEKI

Y

I

= 38700.000

- 38746.850
« 38744.608
- 38743.765
- 38751.588
- 38752.361

BAI MENSEKI

CMENSEKI

Y

 NRTEE06E
- 38743.518

- 38740.575

- 28783,682

- 38785.628
- 338797.532
= 38823.660
- 38824.454
=  58809.526

- 58810.428

« 38743.518

BAT MENSEKI
MENSEKI

inoun

i

3

150516.014 - 38746,850

A N * ok K %

* % %k

(X=X0)* (YN=1-Y0)

4

i

2672.208357
2348,.155161

1667 ,186666

836.928400
3111.140352
¢74e2.072038
3080.980028
9083.763800
2992.039500

28334 .454302
- .9323.959946

4661 .979973

(X=X0)* (YNat=YO)

+ o+ o4

e

836.928400
1099.230336

1116.532680

845.320968

134 .398462
L67.199231

. 838.509054

S 4736.521438

(XeX0) % (YNe1=Y0)
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.e€36.172875

4745,597852
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714.352512
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9472.9350800
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i,

e

(X=X0)* (YNe1=Y0)

+
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6047 .128002
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6174 . 883944
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+

1919.309242
2783.273508
5821.747 054
6174.883944

_2251.709625

o,

18950.973673

6109,175440
6242.2464 804
 A4T63,5973852
4603.593555
4495.871930

261944683581

e

Yel.626922

(X=X0)* (YN=T=Y0)

. 38781.910

+

+
+
+

5528698952
6242.244804

) . B649638

L X=X0) A (YN=1-Y0)

7345.990848

1 6192.559820
5604.922368

23568,425944

(XN=T=X0)*(Y-Y0)

+ + o+ +

+

7194.3590912
1575.614264
4865.135456
6643.150260

ot 24074.2903892

(XN=1eX0) x(Y-Y0)

8023.111046
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X Y (X=X0) % (YN=T=Y () (XN=T=X0)*(YuY0)

- 150559.211 = 38807.220 o 6285.648953 + 3175.203340
0874049\ = 120558.152 = 38797.532 + 0 6235.057440 O 5774.967252
0814029 150575.602 » 38796.384 73 03.616264 + 56064.922368
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0§$140«135 =
08140=31 =
0§140-53 o
0514030 «

8 LOT

TENMEL
X0.Y0

.051460-31 "
05140-32 =
05140-48 -
05140-53 =
. 08140-31 -

9 LOT

CTENHED
XO-YO -

081640=335 =

08140=534 =
05140=46 =
0S140wb47 -
208140033 =

X
150500,000
150576.247
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Y

L 58500.000

- 388264.454

- 38825.353
- 38810.428
- 38809.526

BAI MENSEKI

MENSEKI

= 38824.454

1IN

I

= 38§2§¢125“_

uou

non

i o E

e o+

v 27241.311505
336,892501
168.44625(0

(X=X0)* (YN=1=Y0)

472.720092
1549.743800
1566.027600
1555.884375

511.312382

05 . 688249
X 249354

(X=X0)* {YN=1=Y0
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LT E3E

AX=X0)* (YNwT=Y0)
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+
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1632.256080
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150520.730
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MENSEKI
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R
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116.693145
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-
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+ 645, 176750
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(X X0)5 (YNa1=YO0)
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o+ 336.793802
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59.982908

(XwX0)* (YN«T=YQ)
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+ o g+

+
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-

e

(XN<T=X0)*(Y=Y0)

880.817603
568.,682585
455.033775
423.934064
844 ,511745

3172.979772

348,482816
316.381260
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711.574125
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TENMET X Y (XeX0)*{¥YN=Ta¥Y() (XN=T=X0)*{(Y=Y0)
05160=3% = 150551.134 = 38802.129 + 0 106.104672 ¥ 42.239360
05140238 = 150532.046 « 38810.3%% * 68.2259%4 + 0 321.707622
03140=16 = 150520.3579 - 38811.365 + 210.576207 f 364,202790
¥ 610.38841% v 797.601404
BAI MENSEKI = 187.212991
MENSEKIT = 95,606498
14 LOT
TENMED X Y (X=X0)* (YN=1=Y0) (XN=1=X0)%(Y=Y0)
X0.Y0 « 150500.000 - 38700.000
05140=17 = 150519.840 = 38803.408
05140=18 = 150519.647 =~ 38800.560 +2031.656976 +1995.110400
0S140=40 = 150530.813 « 38799.239 + 3098.555280 v 1969.74863%
. 08140-39 - 150531.134 - 38802.129 + 3089.707026 +  3146,.900877
0514017 - 150519.840 - 58803.408 + 2026.239%60 +3219.504672
+ 10246.1586472 + 10311.264582
BAI MENSEKI = 65,105940
HENSEK T = 32.552970
S
TENNEI X Y (X=X0)* (YN=1=Y0) (XNwl=X0)*(Y=Y0)
X0.Y0 - 150500.000 « 38700.000
0$140-18 = 150519.647 « 38800.560
_.08140«19 = 150519.264 « 38794,0616  + 1935,176640 4+  1858.881258
0S140«41 = 150530.155 - 38793.324 ¢+ 2853.085170 + 1795.927056
- 08140«40  « 150530.,813 « 38799.239 ot 2875.592612 o+ 2992.552045
0S140-18 <« 150519.647 « %8800.560 v 1949.746863% + 3098.555280
T r T T Ses. 915430
CBAT MENSEKI = 0 132.312784
HENSEKI = 66.156392
e or
CTENKEI X Y (X X0) % (YN=T1=YO) (XNw1eX0)*(YaYO0)
X0,Y0 -~ 150500,000 ~ 38700,000
0S140-19 « 150519.244 - 38794.614
08140-2 =« 150519.041 « 38791.619  + 1801.565174 t  1763.116036
05140=20 =~ 150518.8071 = 38788.074 v 1722.528819 +  1677.017034
08140-42 « 150529.421 - 38786.729  + 2591.225154 +  1630.591929
0S140-41 = 150530.155 = 38793.324 +2615.312995 +2745.685404
08140«19 = 150519.244 o« 58794.614 +1795.927056 o+ 2853.,085170
| + 10526.539198 + 10669,4695573
BA1 MENSEKI = T42,956375
MENSEKI = 71.478187
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i
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B[
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* %k
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+ o+ 4

-
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T U

&
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. 120.000926

.. 1802.655074
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+

+
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+ 4 4 o+
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o+
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+ oA

-+
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4

4

1471.0273842
1408.768208
2464.35317 806

2591.225154

7935,339010

1208.419816

2101.500612
22235.168188

6668.763619

908.515711

. 845.320968
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5226.308689
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TENNMET X Y (XeXO) % (YNal=YO0) (XN=TaX0) % (YaY0)
0$1460-34 = 150535.728 - 38825.35% + 1556.811104 +3337.899684
05140=35 = 150533.731 = 38825.487 tO4228.282043 tO44L83,59953%4
o O+ 10040.718221 + 10369.906991
BAT MENSEKI = 529.,188770
MENSEKI = 164 .594385
1 AZ4Y
TENMEI T S Y (X=X0)* (YN=1=Y0) AN« =X0)* (VYD)
X0.Y0 - 150500.000 « 38800.000
05140-1  « 150521.392 « 38826.514 |
0$140e6 = 1505246.385 « 38826.1153 + 0 641.666890 + 558,609296
08140-7 « 150521.189 - 38823.321 +  553.308357 + 568.682585
0$1460=1 e 150521.392 = 38826.314 + 498 .882832 + 557 .567 346
+ 16935.858079 + 1684.859227
BAl MENSEKI = 8.998852
MENSEKI = b.L99426
2 AZ4Y
e e A R TReTE TR Y0l OIS (e
X0.Y0 - 150500.,000 = 38700,000
05140=3 = 150515.879 - 38744.855
08140=8 = 150516.014 = 38746.850 ot 718.307970 + 743.931150
05140=9  « 150517.864 = 38744.608 + 836.928400 ¥ 714.352512
081403  « 150515.879 = 38744.855 0 708.330432 o+ 801.289720
t 2263.566802 v 2259.57338¢
BA1 MENSEKI = 3.993420
MENSEKI] = . 1.996710
3 AZ¥Y
L TENMET R S Y (X X0)* (YNw1=Y0) = (XN=1=X0)*(Y=Y0)
X0.Y0 w 150500.000 « 38700.000
05140-4 =~ 150571.729 - 38737.911 e L
081460-10 « 150569.744 = 38738.158 + 2644 .,064784 +  2737.035182
08140211« 150571.861 = 38739.907  + 2742.072038 +  2783.273808
08160wt = 150571.729 « 38737.9114 + 2862.489203 v 27264.322371
+ B248.626025 +  8244.631361
CBAI MENSEK] = . 3.9946064
MENSEKI = 1.997332
SRR T e e e e
TENNET X oy (XeX0)* (CYNeT=Y0)  (XN=1=X0)*(Y=Y0)
X0.Y0  « 150500.000 « 38800.000
0S140-5 = 150577.336 - 38822.566
08140-12 = 150577.204 = 33820,570  + 1742.,185464 + 1590.801520
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TENMET X Y (X=X0)* (YNa1=Y() (XNwT=aX0)*(YuY()
05140«13 « 150575.340 =« 38822.700 + 1549 ,743800 +  1752.530800
651405 w 150577.3536 -« 3HE22.566 + 1755.5827200 + 1700.122440

+ 50474564064 + S5043.454760

BAT MENSEKI
MENSEKI

4.001704
2.000852
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